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: }'[‘the resources T
. (i) Objective functlo e
(i) Constramts

Imtial Basxc Feas1ble Solutmn 1s~the solu‘uon whlch satlsﬁes
t];ansportatlon problem L B R
() - rim requ1rements and non negativit '(u) rlm requirements

(111) non-negatmty R &

” _Trafﬁc mtensxty is._

'(1) Predecessor Act1v1ty (11) Successor Act1v1ty

A mlxed }strategy game can be solved by L
' (1) Slmplex method i '(11) Hunganan methodl

SA ﬁrm produces 3 products A B and C The proﬁts areRs;B Rs 2 and Rs 4
;“irespectlvely "‘l’l_‘he firm has 2 machmes and below 1s glven ‘the- requlred"’“.
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’7 a Deterrmne the 1mt1a1 basrc feasrble solutlon usmg least cost rnethod for the

followmg transportanon problem : ey SR
e L Dy Dz T Dy :D4 Supplz

" 01 e s o4 30

0y o33 2 1 50
Demand 20 “‘4‘03 f 300 10 |

LR b Solve the followmg transportatton problem by Vogel’s Appl'Oleathll Method

SR Destmatlon N T,
Orlgrn ;f"vf'A : ‘.__B [ ¢ [ D Ava11ab111ty -
e X 27 23 31 | 69 | 150 BB
T iRequirement"" _;"'_9'0; 7() 50 T 60 B T

T 8 a Explam brreﬂy the characterlstlcs of waltlng lme models
b erte down the formulas of M/M/1: N/FIFO model for E
v gy expected number of persons in the queue and in the system
11) expected wartmg tlme m the queue and in the systern '

S 9. a erte down the rules for constructmg a network dxagram o

; -+ OR . -
b Llst the varlous steps 1nvolved in the generatlon of random numbers

o ) 10 a- Suppose two players A and B match coins. If the coins match then A wins two |

" units of Value If the coms do not match then B wms 2 umts of value Solve the
L game: .o o TOR - ‘
R b State the varlous types of proble'ns in determlmstlc 1nventory models S

FEe e : SECTION C(30 Marks)

... Answer any ALL Questtons S R e
| I ALlL Questtons Carry EQUAL Marks (5 x6=30) ..
L ll',' a Solve the followmgLPP graphtcally o _ _ _l v R

Mm Z= 2x+y, Subjectto 5x+10y<50 x+y>1 x’<41 x’y,;>_:0:.'"
: ‘ OR -~ - v, RERE
b Solve the LPP usmg smplex method MaxZ— le, + x2+2x3
' _» subjectto x, +x2 - 2x3 < 10 4x; +. xz A+ x3 <20 X, xz X3>0

| 12 a Obtaln the optlmum solutlon for the transportatlon problem whose cost matrlx 1s
' glvenbelow TN gL T T

ol Oop o e 30 o Tse o ] 7
O 700 180 < 40 |60 e 9

105 40 ) 8 0 le70 200 0 18

N "Demand 5 8 7 14
e e ORL T T T

12 b Solve the ass1gnment problem whose cost matrlx is glven below
R - T Programmer R T
o Program |~ A - B C |- D |,
\ . 1100 25 15 | 20
15 130 s F s
35 [ 20 [ 12 [ 24 | o
17 25 | 24 20 N
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= }:13 a At a petrol pump, customers arnve accordmg to a Porsson process wrth an average SignAne
* time of 5 minutes between arrlvals The servrce tlme is exponentlally dlstrlbuted S

*with méan time of 2 minutes. -
(1) “What would be the average queue length?

| - (i) ‘What would be the average ‘number of customers in the system"
S ‘-,»_;' (iif) What is the average time spent by a car in'the petrol pump‘? )
S (1v) What is the average waltmg tlme of a cat before rece1v1ng petrol‘7 o ‘f R

: 'r- i ml OR

b Customers arrlve ata post ofﬁce accordmg to Pcnsson mput process wrth a mean :

: - rate of 30 per day The time requn'ed to serve a customer has an exponentlal D e
R »dlstrlbutlon with a mean of 36 minutes. Assume that the customers are served by e

S 'ja single individual, and queue capacity is 9. Findout =
i) The probabrhty of no customers in the queue | j YL '.' L

(m)The average hne length

. 14 a Apro;ect schedule has the followmg charactenstrcs
. Activity:1'= 21 3 1-4 2~ 53— 43 74 54 65,__-,6*.5 76 7
: -Tlmef:?-ZO' 23": 819 16 24 0

D) Construct network diagram
. - ii) Find total float for all the actrvltles

L) Compute’ expected completmn trme of the PI‘OJ%t

'; Alv) Fmd the crltlcal path

b The followmg table 1ves the ]obs ofa network along w1th therr trme estrmates o e

Duratlon 1n da s

s | 22

6 | 12

— . 9“':’, R I :'} , A S

1) Draw the prOJ ect network dragram

; " ii) Find the length and variance of the cr1t1cal path e e e e
S 111) Fmd the probablhty that the pl'O]eCt w1ll be completed w1thm 4l 5 days f»

b The demand for a partlcular 1tem 1s 18 000 umts per year The holdrng cost per,-'

umt is. Rs:120 per year : and the: cost of one. procurement is Rs. 400 No shortages?»f:

are allowed and the replacement rate is. mstantaneous Determme
1) Optlmum order: quantity i) Number of orders per year - ‘

111) Tlme between orders 1V)Total cost per year when the cost of one umt 1s Re l

o z-z-z END
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